Solving Linear Simultaneous
Equations by Substitution

(a) Solve 4x —y =17 (Q\ ~ = 6) \6:3
xX=y+2
(b) Solve 2x+9y =06 o x‘:__\_ :5
y=4x+3 < ) 2 )3
(c) Solve 3x+7y =13 <c‘,> DC-;O\ )6=—-2
W= s =il
(@) Solve 4x -3y =7 <q> OC____L\- ) U=5
3y=x+5
(b) Solve y+1=3x (b) P 5 =0 J\O:—-'\O
2x —3y =24
(c)= Solve 3x + 5y:=29 (C,> oC = 5 )6::\-—\-
y+11 =5x
,,,,,,, L
(@) Solve 4x + 6y = 74 ‘ (q) \x;_—....\ 3 3,_ \5
1L =39 = 745 |
(b) Solve y—8=06x (b\) DC. = -2) \(Ay'--—\—-\-
4x+5y+28=0 |
(c) Solve 8 —x =3y ‘<C‘B Cﬁ;%:%: = -—25
| t}= Se'D)

10i—3x =5y
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(a) Given that 7x = 2y + 34 and
3x + 5y + 3 =0, find the value of
x% +y?

3x+1

5y —4x =13

(b) Solve

(c) Find the coordinates of intersection of
the straight lines with equations

VA=83 G=r).
x+3y=19

DC’Z—H\‘SL i

(b) SeH O )6“5 /
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